oooorgd8ubooooonon

\DDDDDDDDDDDDDD(DD,DDDD)DDDD.\

gsgbdb,boooboboooobgooob,boboboooobuobobooobobo
00o0o000o0oO0.or0010000,00000((@QOOOOOO0OO0)00O0DO0OOODOODOO
0000000 (0oob0)0o0o00oo0oUOO0O00OOO0.00DoOO0oooOoOoOOo.

71 ODOO00OOO0O0OO0O0

goboboobbooobo,ogoboooboboooobobo,0ooobboobboo,bbo
gogbogboobbooboooooon

oo 7.1, R:OOD0D0D0000O0O00OODODOODOD,zy 00000000000 nO00000
oMm,000.0000,00000M,00000000:

e zyIUOODDOn0O0OOOOUOOODO,00000000000O(ODO)

e JU0ODDDOOUODDOO W UILOOOULO,D00DOOUOOOD (OODO)

U0ooooooond Dy, 0o, 0oogoogoog.

072 0400 My,O000000,

UOn00000DO0DOOnO0D0O00O:

2k 2k

Pi<cos—7r,sin—7r> (i1=1,2,...,n).

n n
2

P, O0000oonbO —WDDDDDDD P O000000OODO0 ADDO,x000000000

n
0000 BODOOO.OOO,A000 pOOOODOO Cy,...,C,00000O0DO00O00ODOO
oooo Cp---CeCy 0D0OODO,

00 7.3. 00000 nO000O0O0O0OO0OOO0 M, 000000000,00 2o0000:
E,A A% ... A" B AB,..., A" 'B.

O000,FO00000 (DOQOOODOOO)ODOO.DOO,0000000.

A"=E, B*=E, BA=A'B(=A4""'B).




O00,A BOO0OD0DOODODODOOOOOOODOOO:
f —sind 2 1 0
A= | ® MY ooo,e=),  B= .
sin 0 cos 6 n 0 -1

0 74. 0000000 A, BOODOOOOO.

7.2 0O4OgodnO

00 7.5. 00000 Dy, 00 COO0ODO,Ck=FEO0000000OOO k00 COOO
(order) OO0, ord (C) OO O.

gboboooboooboooobooood.

gb ve6. 0000oOooOoooog,

ord (E) = 1, ord(AE):ﬁ (t=1,2,...,n—1), ord(A'B)=2(=0,1,2,...,n—1).
n’

ooo,(n¢)0n0O¢0000000O0ODO.

6
o 1. DSDDDDDD,?WDDD (A DDOoDOoOoOoOoooo0o0, ;000000 R ODOO
gooobobobobo,gogobgobn ppO00O00OO00OD ODb,06b0DbODODO

DDDDDDDD,ord(A3):(5%):%:5DDD.DD,SD 500000000,3z+5y=1

00000 zy0000.000,2=2,y=-1000000.0000,

141
-2+ 2
-0+3 — 36 = 5-3+3
1+4 — 3-8 = 5-4+44
“2+5 «— 3-10 = 5-5+5

W oW W W W
IO oo = s o
|
NS B S RSy

Jooodo,4000 R OOOOO. OO, Ps 0O AAD000ooooo:
Ps— Py — P — Py — P, — Ps

0000,060000,6—3—6000 (000, 0rd(43%)=6/(6,3)=2000).



